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UNIT – I 

SOCIOLOGY AS A DISCIPLINE 
 
Q. 1.  CO: 1  
 To understand the importance of social life through observation and 

identify the social problems. 
 
 Question Text:  

  
  Ravi is surrounded by various, organizations institutions groups, 

etc (see the diagram). Analyse the diagram and draw conclusions 
regarding social life. 

 

  chn \nch[n Hm¿Kss\tkj≥kpIfmepw, ÿm]\ßfmepw, 

KWßfmepw Np‰s∏´ncn°p∂p. (Ub{Kw ImWpI) apIfn¬ X∂ncn°p∂ 

Nn{XsØ hniIe\w sNbvXv kmaqlnI PohnXsØ Ipdn®p≈ \nKa\ßfn¬ 

FØnt®cpI. 

          Score : 4 
          Time : 6 mts. 
 Scoring Indicators:  

• Identifies man as a social annual    (2) 
• Justifies the importance of social life.   (2) 
 

Q. 2. CO: 2  
 Inevitability of origin and development of sociology. 
 
 Question Text:  

‘Developments in the field of sciences stood as catalyst for the 
development in the field of social sciences’. Justify the statement. 

   

 "imkv{Xhnjbßfnep- mb ]ptcmKXn, kmaqlnI imkv{X hf¿®bv°v t{]cI 

ambn´p- v' ; Cu {]kvXmh\sb \ymboIcn°pI. 

          Score : 4  
       Time : 5 mts. 



 
 Scoring indicators:  

• Appraises the attitudinal change of social scientists as part   
    scientific growth       (2) 

• Makes connections with 13th century’s situation. (2) 
 

Q. 3. CO: 3  
 Identify the major Indian sociologists. 
 
 Question Text:  

You are assigned to present a paper on ‘Indian Sociologists and thus 
contributions in the forth coming sociological conference. Collect maximum 
Data and prepare a draft for the presentation. 

   

 Bk∂ambncn°p∂ tkmtjymfPn°¬ tIm¨^d≥kn¬ \nßsf Hcp {]_ 

‘mhXcWØn\v NpaXes∏SpØnbncn°p∂p. "C¥y≥ tkmtjymfPnÃpIfpw 

AhcpsS kw`mh\Ifpw' F∂XmWv hnjbw. ]camh[n Ö ..ßƒ Dƒs∏SpØn 

AhXcWØn\mbn Hcp IcSpcq]w Xømdm°pI. 

          Score : 4 
          Time : 5 mts. 
 Scoring Indicators:  

• Identifies major Indian Sociologists   (2) 
• Organises and classifies their works   (2) 

 
Q. 4. CO: 4 
 Discuss the different definitions of sociology given by various sociologists. 
 
 Question Text:  

Sociology is a liberating discipline – Define sociology with reference to the 
above statement. 

   

 tkmtjymfPn hntamN\mflI hnjbamWv. Cu {]kvXmh\bpsS 

ASnÿm\Øn¬ tkmtjymfPnsb \n¿hNn°pI. 

          Score : 3 
          Time : 3 mts. 
 Scoring Indicators:  

• Evaluates, nature of sociology.    (1) 
• Devises at a new definition of sociology.   (2) 

 
Q. 5. CO: 5 

Make comparative analysis of the nature of sociology with other 
disciplines. 

  
Question Text:  

Your friend Smitha completed the SSLC course. She is now in a confusion 
regarding the selection of subject combination for the higher secondary 



course. Being a sociology student convince Smitha about the uses of 
sociology, so that she may select a subject combination with sociology. 

   

 \nßfpsS kplrØv kvanX Fkv.Fkv.F¬.kn. ]q¿Ønbm°n. lb¿ sk°- dn 

]T\Øn\v GXv k_vPIvSv tImºnt\j\mWv sXcs™Spt°- Xv F∂Xv 

kw_‘n®v Ahƒ Ct∏mƒ Bi¶bnemWv. Hcp tkmtjymfPn hnZym¿∞n F∂ 

\nebn¬ kvanX tkmtjymfPn Dƒs∏´ Hcp k_vPIvSv tImºnt\j≥ 

sXcs™Sp°Ø° coXnbn¬, tkmtjymfPnbpsS D]tbmKsØ°pdn®v 

kvanXsb t_m[ys∏SpØpI. 

          Score : 5 
          Time :10 mts. 
 Scoring Indicators:  

• Apprises the scope of sociology.    (2) 
• Makes connection with the contemporary job opportunities. 

        (2) 

UNIT – II 

Q. 6. CO: 2 
 

Compare society and community and list out the similarities and 
differences. 

 
 Question Text:  
 

‘Society is a complex of forms or process’  
‘community is an area of social living with some degree of we feeling’. 
Compare the above statements relating to society and community and 
prepare a list of the major similarities and differences between society and 
community. 

   

 "LS\IfpsStbm {]{InbIfpsStbm k¶o¿ÆXbmWv skmssk‰n' 

 " \Ωsfm∂v F∂ hnImctØmsS Hcp \n›nX {]tZisØ kmaqlnI PohnXamWv 

IΩyqWn‰n' 

 apIfnse {]kvXmh\IfpsS ASnÿm\Øn¬ skmssk‰nbpw IΩyqWn‰nbpw 

XΩnep≈ kmayßfpsSbpw hyXymkßfpsSbpw Hcp ]´nI Xømdm°pI. 

          Score : 5 
          Time : 8 mts. 
  
Scoring Indicators:  
 
  Compares between society and community and derives at 

(a) Similarities    (2) 
(b) Differences    (3) 

 
 
 
 
 



 
Q. 7. CO: 3 

Differentiate between little community and great community. 
 
 Question Text:  

A small traditional agrarian villages is considered as a little community. A 
metropolitan city is an example of great community. 
(a) Point out the sociological differences between these two 

communities. 
(b) ‘Little communities are in the process of transition towards great        

communities’ -  Evaluate. 
 

 Hcp ]cºcmKX Im¿jnI {KmasØ "en‰n¬ IΩyqWn‰n'bmbmWv 

]cnKWn°s∏Sp∂Xv. sat{Smt]mfn‰≥ kn‰n "t{K‰v IΩyqWn‰n'°v DZmlcWamWv. 

 (a) Cu c- v IΩyqWn‰nIfpw XΩnep≈ kaqlimkv{X]camb hyXymkw 

Nq- n°mWn°pI. 

 (b) "en‰n¬ IΩyqWn‰nIƒ' "t{K‰v IΩyqWn‰nIfmbn' ]cnh¿Ø\w 

sNøs∏Sp∂Xns‚ ]mXbnemWv ˛ hnebncpØpI. 

          Score : 6 
          Time :12 mts. 
Scoring Indicators:  
  (i) Differences between little and great communities  (2) 
  (ii) Evaluates the transition process     (4) 
 
Q. 8. CO: 8 
 Question Text:  

  Ability to identify different types of social groups. Last week an 
accident occurred in a city in which one student lost his life. With in a 
minute number of people gathered. Slowly a news spread that the bus 
created the accident was running very fast. As a result the people 
assembled turned violent and burned the bus. 
  By using proper terms give an explanation for the groups formed 
here. 
 Ign™bmgvN ]´WØn¬ \S∂ Hcp A]ISØn¬ Hcp hnZym¿∞n 

sIm√s∏´p. \nanjßƒ°Iw kw`hÿeØv \nch[n t]¿ XSn®pIqSn. _kns‚ 

AanXthKXbmWv A]ISImcWsa∂ Hcp hm¿Ø ]Xps° AhnsS ]S¿∂p. 

CXns‚ ^eambn P\°q´w A{Itam’pIcmbn _kv IØn®p. 

 ChnsS cq]wsIm-  {Kq∏pIsf icnbmb kmt¶XnI ]ZßfpsS 

klmbtØmsS hniZoIcn°pI. 

          Score : 3 
          Time :5 mts. 
  
Scoring Indicators:  
  (i) Identifies the terms crowd and mob    (1) 
  (ii) Explains the features of crowd     (1) 
  (iii) Explains the features of mob     (1) 
 
 



Q. 9. CO: 6, 7 
 

Familiarise the concept of social institution and list out the characteristics 
and functions. 
Identify different types of social institutions. 

 
 Question Text:  
 

 Institutionalised living is the key feature of human society. Substantiate. 
 

  ÿm]\h¬IrXamb PohnXamWv a\pjy kaqlØns‚ apJy khntijX. 

ka¿∞n°pI. 

          Score : 5 
          Time :6 mts. 
Scoring Indicators:  
 
  (i) Clarifies  the concept.      (2) 
  (ii) Evaluates the role of social institution.    (3) 
 
 
Q. 10. CO: 10 
 

To familiarize the concept of culture and identify the changes of culture in 
our society. 

 
 Question Text:  
 

 In the light of the decision to allow churidar in Guruvayoor temple a 
student said: ‘changes in the material culture in a way affects the 
nonmaterial culture of the society”. How far this statement is correct ? 
Justify your answer. 

 

  Kpcphmbq¿ t£{XØn¬ NpcnZm¿ [cn®p {]thin°mw F∂ Xocpam\w 

h∂Xns‚ shfn®Øn¬ Hcp Ip´n ]d™p: "`uXnI kwkvImcØn¬ D- mIp∂ 

am‰ßƒ Hcp ]cn[n hsc A`uXnI kwkvImcØn¬ IqSn am‰ßfp- m°p∂p'. 

Cu {]kvXmh\ F{XtØmfw icnbmWv. \nßfpsS DØcsØ \ymboIcn°pI. 

 

          Score : 5 
          Time :7 mts. 
Scoring Indicators:  
 
 (a) Applies prior knowledge to the new situation and differentiates 

between materials. Culture and non-material culture.  (2) 
  (b) Judges the statement and justifies the answer.   (3) 
 
 
 
 



UNIT – III 

METHODS OF SOCIAL RESEARCH 

    
Q. 11.  CO: 2  
 
  Ability to recognize and utilise the stages of social research. 
 
Question Text:  
 

 A developmental agency approached you for conducting a study on the 
topic ‘Youth and Employment’. They asked you to a submit a Research 
proposal ; prepare and submit it for approval. 

 

  Hcp hnIk\ GP≥kn "bphP\ßfpw sXmgnepw' F∂ hnjbØn¬ Hcp 

]T\w \SØm≥ \nßtfmSv Bhiys∏´ncn°p∂p. Hcp dnk¿®v s{]mt∏mk¬ 

FgpXn Xømdm°n ka¿∏n°pI. 

          Score : 8 
          Time :15 mts. 
Scoring Indicators:  
 

• Identifies different steps of social research.    (2) 
• Elaborates each step.       (3) 
• Transfer knowledge and makes connection with the issue. (3) 

 
 
Q. 12.  CO: 2  
 
  Ability to recognize and utilise the stages of social research. 
 
Question Text:  
 

 A high school student approaches you to learn about different stages of 
research project. Guide him by defiling the steps. 

 

  Hcp sslkvIqƒ hnZym¿∞n KthjW ]≤XnbpsS hnhn[ L´ßsf°pdn®v 

]Tn°p∂Xn\v \nßsf kao]n°p∂p. KthjWØns‚ hnhn[ L´ßƒ 

]d™psImSpØpsIm- v Abmsf klmbn°pI. 

          Score : 6 
          Time :10 mts. 
Scoring Indicators:  
 

• Identifies different steps.      (3) 
• Brief description of each stage.     (3) 

 



 
Q. 13.  CO: 4  
 
Question Text:  
 

 Prepare an interview schedule to conduct a research with among. 
School students for analyzing ‘efficiency of educational reforms’. 

 

  hnZym`ymk ]cnjv°cWßfpsS Imcy£aX hniIe\w sNøp∂Xn\mbn 

kvIqƒ hnZym¿∞nIƒ°nSbn¬ Hcp ]T\w \SØp∂Xn\v Hcp tNmZymhen 

Xømdm°pI. 

          Score : 4 
          Time :10 mts. 
Scoring Indicators:  
 

• Personal data        (1) 
• Appropriateness and comprehensiveness of questions.  (3) 

 
 
Q. 14.  CO: 3  
 
  Ability to use the methods of data collection. 
 
Question Text:  
 

 Identify the suitable terms for the methods used. 
 
(a) A professional counselor deals with a problematic child and makes 

complete account of the case. 
 
(b) Researcher  live with social group participates in all their activities and 

collects data. 
 

˛ Hcp s{]m^jW¬ Iu¨kne¿ {]iv\°mc\mb Hcp Ip´nsb°pdn®v 

ka{K hnhc tiJcWw \SØp∂p. 

˛ KthjI≥ kmaqlnI {Kq∏nt\msSm∏w hkn®v, AhcpsS 

{]h¿Ø\ßfn¬ ]¶mfnIfmbn Ahsc°pdn®p≈ hnhcßƒ 

tiJcn°p∂p. 

          Score : 2 
          Time :2 mts. 
Scoring Indicators:  
 

• Results, case study and participant observation.   (2) 
 
 
 
 



 
Q. 15.  CO: 3  
 
  Ability to use the methods of data collection. 
 
Question Text:  
 

Prepare an observation schedule to conduct participant observation to 
study about the food habits of a tribe in your area. 
 

\nßfpsS {]tZisØ Hcp BZnhmkn hn`mKØns‚ `£WcoXnsb 

°pdn®v ]m¿´nkn∏‚v H_vk¿thj≥ am¿§ØneqsS Hcp ]T\w \SØm≥ 

Bhiyamb Hcp H_vk¿thj≥ sjUyqƒ Xømdm°pI. 

          Score : 3 
          Time : 5 mts. 
Scoring Indicators:  
 

• Observation schedule with check box type information.  (3) 
 
 

UNIT – IV 

SOCIAL INSTITUTION 
Q. 16.  CO: 2  
 
  Able to identify the types and functions of family. 
 
Question Text:  
 

You feel safe when you are with your family. Don’t you ? Then, what else 
do you expect to get from the family ? Note them briefly. 

 

 \nßfpsS IpSpw_Øns\m∏w Ignbptºmƒ \nßƒ°v kpc£nXXzw 

A\p`hs∏Sp∂nt√ ?F¶n¬ as‰s¥√mw ImcyßfmWv \nßƒ IpSpw_Øn¬ 

\n∂v {]Xo£n°p∂Xv ? Ah {lkzambn Xømdm°pI. 

          Score : 6 
          Time :12 mts. 
Scoring Indicators:  
 

• Identification of functions.      (2) 
• Analysis of functions.       (4) 

 
Q. 17.  CO: 2  
 
  Ability to identify the types and functions of family. 
 
 



 
Question Text:  
 

Some statements and related terms about different families are given in 
boxes match them and complete the table given below. 
 
     A 

a. Eldest male member has the authority 
b. Children are brought up in mother’s house. 
c. Lineage is traced through mother. 
d. Family formed by marriage relationship. 
e. Common kitchen, common property etc. 

     B 
Patrilocal, Matrilocal, Affinal,  Consanguineous, 
Patriarchal, Matriarchal, Patrilineal, Matrilineal, 
Nuclear, Joint family. 

 
Structure Joint Family Common kitchen etc. 

Residence ----------- --------------- 
Relation ---------- ---------------- 
Authority ------------ -------------- 
Ancestry ------------ -------------- 

  

 hyXykvXXcw IpSpw_ßsf kw_‘n® Nne hkvXpXIƒ c- p 

t_mIvkpIfn¬ \¬Inbncn°p∂p. Ah _‘s∏SpØn Xmsg \¬Inbncn°p∂ 

]´nI ]q¿Ønbm°pI. 

   A 
a  aqØ ]pcpj≥ A[nImcw Iømfp∂p 

b Ip´nIƒ AΩbpsS ho´n¬ hf¿Øs∏Sp∂p. 

c Zmb{Iaw AΩbv°v {]m[m\yap≈Xv. 

d hnhml_‘ØneqsS cq]w sIm≈p∂p 

e s]mXp ASp°f, s]mXpkzØv apXembh. 

 
     B 

]m{Sntem°¬, am{Sntem°¬, A^n\¬, I¨km≥Pyq\nbkv, 

]m{Snbm¿°¬, am{Snbm¿°¬, ]m{Sneo\nb¬, am{Sneo\nb¬, 

\yq¢nb¿, tPmbn‚v ^manen. 
 

LS\ tPmbn‚v s]mXp ASp°f etc 
Xmakw ----------- --------------- 
_‘w ---------- ---------------- 

A[nImcw ------------ -------------- 
Zmb{Iaw ------------ -------------- 

           

          Score : 4 
          Time :6 mts. 



Scoring Indicators:  
 
   2  – Matrilocal   –  b 
   3  – Affinal  - d 
   4  -  Patriarchal  - a 
   5  - Matrilineal  - e 
 

UNIT – V 

Q. 18.  CO: 3  
 

 To relalise  the importance of marriage as a social institution and identify 
its various forms. 

 
� Draupadi had five husbands 
� Dasaratha had three wives 
 

 The above situations related to Mahabharatha and Ramayana shows 
that there were different types of marriage in India. 

 
1. Identify the types of marriages related to the above statements. 
2. Do you think such marriages are desirable in the modern India ? 

Substantiate. 
 

� {Zu]Xnbv°v A©p`¿Øm°≥amcp- mbncp∂p.   

� ZicY\v aq∂p `mcyamcp- mbncp∂p.  

 

  alm`mcX cmambW IYbpambn _‘s∏´ kmlNcyßƒ ]pcmX\ C¥ybn¬ 

hnhn[ hnhmlk{ºZmbßƒ \ne\n∂ncp∂p F∂p sXfnbn°p∂p.   

 

  1. apIfn¬ kqNn∏n® hnhml k{ºZmbßƒ GsX√msa∂v Xncn®dnbpI. 

  2. AØcw hnhmlßƒ B[p\nI C¥ybn¬ A`nImayamsW∂v \nßƒ  

   IcpXp∂pthm?  ka¿∞n°pI? 

 

          Score : 4 
         Time :6 mts. 
Scoring Indicators:  

 
Identify         

1. Polyandry       1 
2. Polygymy   
 

  Evaluation         3 
 
 
 
 
 



Q. 19.  CO: 3  
 
 To realise the importance of marriage as a social institution and to identify its 

various forms.  In a seminar on marriage,  A group argued ‘Exogarry is more 
progressive and scientific’?  Do you agree to the argument?  Substantiate?  

 
 hnhmlsØ°pdn®p≈ skan\mdn¬ 'F' {Kq∏v FIvtkmKan IqSpX¬ 

]ptcmKa\]chpw, imkv{XobhpamWv F∂v hmZn®p.  CXnt\mSv \nßƒ 

tbmPn°p∂pthm?  ka¿∞n°pI?  

          Score : 4 
          Time :6 mts. 
Scoring Indicators:  

 
 Difference between exogany and endogany  - 2 
 Ev aluation       - 2 
 
 
 
Q. 20.  CO: 4  
  
 Study the Diagram and attempt the following.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 Find out (any two) 1) Primary kins 

2) Secondary Kins 
3) Tertiary kins  

 
  Legend  
 
�Man 

A B 

E C D F 

H G 

I 



� Woman 
= Marriage Relation  

 
 
Ub{Kw ]Tn®v Xmsg sImSpØncn°p∂h Is- ØpI?  (cs- Æw 

 

     1. ss{]adn  

     2. sk°‚dn 

     3. sS¿jydn  

          Score : 4 
          Time :6 mts. 
   kqN\ 

    

   � ]pcpj∑m¿ 

   � kv{Xo 

   =  sshhmlnI _‘w  

 
 
Scoring Indicators:  

 
Classifies and organizes different Kims appropriately  - 4 
 

UNIT – 5 
CO. 1.   
 
 Help the students to understand the evolution of economic institutions.  
 
Question Text  

a) Arrange the following on the basis of the evolution of economic institutions  
 

Currency, barter system, coins, credit cards.  
 

 Coins    
 

b) Prepare a seminar report on the evolution of economic institutions  
 
 
a) Xmsg \¬Inbncn°p∂hsb kmºØnI ÿm]\ßfpsS ]cnWma L´ßfpsS  

 ASnÿm\Øn¬ {IaoIcn°pI?  

 

  Id≥knIƒ,  _m¿´¿ k{ºZmbw,  \mWbßƒ, s{IUn‰v Im¿UpIƒ  

 

 \mWbßƒ    
 

b) kmºnØnI ÿm]\ßfpsS ]cnWmasØ°pdn®v  Hcp skan\m¿ dnt∏m¿ v́ 

Xømdm°pI?  



          Score : 5 
          Time :7 mts. 
Mental Process :  

 
 a) Classifies as Barter System, coins, curencies, credit cards  2 
 b) Seminar report        3  
 
Q. 22, CO : 4 
 
 Enable the students to get a good insight into the functions of education in 

modern societies educational institutions plays a greater role compared to that 
of traditional societies.  Evaluate.   

 
B[p\nI kaqlØn¬ ]cºcmKX kaqlßsf At]£n®v hnZym`ymk 

ÿm]\ßƒ°v IqSpX¬ tdmfp- v.  hnebncpØpI?  

          Score : 5 
          Time :8 mts. 
Scoring Indicators  :  

 
 Evaluates the statement with reference to the functins of education. 
            5  
 

      UNIT – 6 
 
Q. 23, CO : 1 
 
  Identify and compare the concepts of social structure and function.  
 
Question Text :  
  
  Social structure has no significance without the functional aspects of it .  

Do you agree with this statement?  Justify?  
 

{]hrØt\m∑pJ hißƒ Hgn®p \n¿Ønbm¬ kmaqly LS\ F∂ k¶ev]Øn\v 

bmsXmcp kmwKXyhpan√.  Cu {]kvXmh\tbmSv \nßƒ tbmPn°p∂pt- m?  

ka¿∞n°pI?  

          Score : 4 
          Time :5 mts. 

UNIT – 6 
 
Q. 24, CO : 2 
 
  Observes different social functions and dysfunctions in our society.   
 
Question Text :  
  



  Religion is one of the agencies social control.  Often religion also creates 
communal classes.  Identify the function and dysfunctions religion from the 
above statement.  

 
kmaqly \nb{¥WØns‚ Hcp GP≥knbmWv aXw.  ]t£ Nnet∏mƒ aXßƒ 

h¿§ob kwL¿jßƒ°p ImcWamImdp- v.  CXn¬ ^Mvj≥, Unkv^Mvj≥ 

F∂nh Is- ØpI?  

          Score : 1 
          Time :1 mts. 
Scoring Indicators:  

 
  Differentiate function and dysfunction   1 
  Agency of social control  - function  
  Commend class   - dysfunction  
 
 
Q. 25, CO : 4 
 
  Able to distinguish between the role and status of an individual.  
 
Question Text :  
  
  Categorise the following into ascribed and achieved statuses.  
 
 Male, Married, Old aged, Doctor, Rich, woman, Priest  
 

Xmsg sImSpØncn°p∂hsb I¬∏nX, B¿÷nX ]ZhnIfmbn th¿Xncns®gpXpI? 

          Score : 3 
          Time :2 mts. 
Scoring Indicators and key points  

 
  Categories 
 

Achieved Status Ascribed status 
Married 
Doctor 
Rich 
Priest 

Male 
Old aged 
woman 
 

 

UNIT – 6 
 
Q. 26, CO : 4 
 
  Understand the concepts of values and norms. 
 
Question Text :  
  



 Categorise the following into norms and values. 
  
 Honesty, keep queue is a ticket counter, hospitality, students stout when the 

teacher enters into the class. 
 

XmsgsImSpØncn°p∂hsb hg°ßƒ, Sn°‰v Iu- dn¬ Iyq ]men°pI, 

BXntYbXzw, A≤ym]I≥ ¢m�ntes°Øptºmƒ hnZym¿∞nIƒ FWo¬°p∂p. 

         Total Score : 2 
         Time :2 mts. 
Mental Process : 4 
Scoring Indicators and Key points:  

 
  Categories into norms and values   (2) 
   

Norms Values 
Keep queue in a ticket counter 
Students stout when teacher 
enter into the class room 

Honesty, 
hospitality 

  
 
Q. 27, CO : 7 
 
  Understand and classify the concept of social stratification.  
 
Question Text :  
  
(a) Do you think there is any type of social stratification present in and around 

your locality.  Substantiate with suitable examples. 
(b) Which type of social stratification dominates is your locality and identify its 

major features. 
 

\nßfpsS Np‰p]mSn¬ GsX¶nepw coXnbnep≈ kmaqlyt{iWoIcWw Dt- m ?  

DZmlcWklnXw hniZam°pI. 

GXpXcw kmaqly t{iWoIcWamWv \nßfpsS Np‰p]mSn¬ {]_eambn´p≈Xv.  

AXns‚ {][m\ kz`mh khntijXIƒ Is- ØpI. 

         Total Score : 3 
         Time : 6 mts. 
 
 
Scoring Indicators and key points  

 
  Identifies the types of social stratification 
 Eg: Caste, Class, Etc.    (1) 
  
 Features caste / class 
 
 



 
 

Unit : 6  
CO. 10 
 
Analyse social mobility as a changing factor in the social position of an individual. 
 

Question text :  
 
Mr. Prakash belongs to  a scheduled caste and was economically backward.  He 
attained civil service (IAS)  and jointed as the District Collector. 
Identify the type of social mobility. 
 
]«nIPmXn¡mc\mb {]Imiv km¼¯nIambpw ]nt¶m¡ambncp¶p.  At±lw knhnÂ 
kÀÆokv t\SnsbSp¯p.  PnÃm IfIvSÀ Bbn tPmenbnÂ {]thin¨p. 
GXp Xc¯nepÅ tkmjyÂ sam_nenänbmWv {]Imin\p−mbXv ? 
 

         Total score : 1 
         Time : 1 Minutes  
Scoring indicators and key points :  
 
Identify the concept         (1) 
Vertical social mobility         
 

 

Unit : 6  
Q. 28  

CO. 10 
 
Understand and differentiate the concepts of caste, class and estate.  
 
Question text :  
 
Match the columns B & C  with A 
 

A B C 
Caste Modern civilized communities Hereditary calling 

Class Legally defined Part of feudalism 

Estate Pollution – Purity Open group 

     
‘B’, ‘C’tImf§Ä ‘A’bv¡p ]qcIamIp¶ coXnbnÂ {IaoIcn¡pI. 
 

A B C 
PmXn B[p\nI ]cnjvIrX kapZmb§Ä ]mc¼cy sXmgnÂ 

hÀ¤w \nba]cambn \nÀÆNn¡s¸«Xv ^yqUÂ hyhØbpsS `mKw 

FtÌäv ip²w þ Aip²w Xpd¶ KWw 

Total score : 3 



         Time : 3 Minutes 
Scoring indicators and key points :  

 
Caste     -    Pollution purity                           -     hereditary calling 
Class     -    Modern civilised communities   -     Open group 
Estate    -    Legally defined                -     Part of feudalism 
 
 

Unit : 7  
Q. 29  

CO. 2 
 
Able to differentiate between associative and dissociative social processes. 
 
Question text :  
 
Match the columns B & C  with A 
 

 A B C 
1 Competition is an 

interaction without social 
contact 

 

Young & Mack 

Slow and gradual 
process 

2 Assimilation is the fusion 
of or blending of two 
previously distinct 
groups into one  

 

A.W. Green 

Personal process 

3 Conflict is the deliberate 
attempt to oppose, resist 
or coerce the will of 
others  

Park and Burgess Continuous process 

     
B, C tImf§Ä A tImft¯mSv tbmPn¡p¶ coXnbnÂ amän FgpXpI. 
 

 A B C 
1 kmaqlnI k¼À¡w 

IqSmsXbpÅ CSs]SemWv 
aÕcw 

b§v & amÀ¡v kmh[m\hpw 
{Iam\pKXhpamb 

{]{Inb 
2 t\ct¯ hyXykvX§fmbn 

cp¶ c−v hn`mK§fpsS 
kwtbmP\w AYhm ka 
\zbamWv Aknantej³ 

F.U»yp. {Ko³ hyàn]camb 
{]{Iob 

3 aäpÅhcpsS 
XmÂ]cy§tfmSpÅ 
t_m[]qÀÆamb 
{]Xntcm[w, FXnÀ¸v 
AsÃ¦nÂ Gäpap«emWv 
kwLÀjw. 

]mÀ¡v & _ÀKÊv XpSÀ{]{Inb 

 

Total score : 3 
         Time : 2 Minutes 
 



 
 
Scoring indicators and key points :  

 
Identifies the definitions and features 
 
A1   -   B3    -   C3  - 1 
A2   -  B1   -    C1  - 1 
A3   -   B2   -    C2  - 1 
 

Q. 30  
CO. 6 
 
Identify the different types of competition in the socieity. 
 
Question text :  
 

Identify the different types of competitions seen in the following situations. 
(a) PSC test for 
(b) Election for state legislature 
(c) Election for the post of president of residential association 

 
Xmsg¸dbp¶ AhØIfnse {]ISamIp¶ hyXykvX aÕc§Ä Is−¯pI. 

(a) ]n.Fkv.kn. ]co£. 
(b) kwØm\ \nbak`bnte¡pÅ sXcsªSp¸v. 
(c) dknU³jyÂ AtÊmkntbj³ {]knUâv Øm\t¯¡pÅ aÕcw. 

 

         Total score : 3 
         Time : 2 Minutes  
Scoring indicators and key points :  
 
Identifies the different types of competition 
a -   Economic Competition  - 1 
b -   political competition  - 1 
c -   Social competition  - 1 
 

 
Unit : 7  

Q. 31  
CO. 1 
 
To understand the concept of social processes. 
 
Question text :  
 
Mention examples from your day to day life for the process given below.  
 
 
 



 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
[XmsgsImSp¯ncn¡p¶ kmaqly {]{IobIÄ¡v \n§fpsS ssZ\yZn\ PohnX¯nÂ 

\n¶v Hmtcm DZmlcW§Ä FgpXpI.] 
 

         Total score : 4 
         Time : 4 Minutes  
 
Scoring indicators and key points :  
 
Identifies and makes connection unit social life – different Associative Processes 
:  
         1 score each. 
Eg. 

(1) Football team. 
(2) Onam celebration 
(3) English Education. 
(4) Tolerance between different religion. 

Q. 32  
 
CO. 3 
 
Identify the importance and need of cooperation in society. 
 
A Diagrammatically represent the different forms of cooperation. 
 
klIcW¯nsâ hyXykvX Xc§Ä Hcp Ub{K¯neqsS Nn{XoIcn¡pI. 
 

        Total score : 2 score 
 
        Time : 3 Minutes  
Scoring indicators and key points :  
 
Categories different forms of cooperation and communicates through diagram. 
 
 
 

Associative Process 

Cooperation Integration Assimilation Accomodation 

Eg: (1) Eg: (2) Eg: (3) Eg: (4) 



Eg. 
 

 
 
 
 
 
 
 
 
    
 
 
 

 
 
 
 

Unit : 8  
CO. 1, 3, 4 
 

- Identify the planned and unplanned social change. 
- Differentiate between evolution, revolution and development. 
- Identify different factors influencing social change. 

Q. 33  
 
Question text :  
 
The Kerala society has under gone tremendous changes during the last 50 years. 
 
1) Of the following which type of social change is associated with this ? 
 

a) Planned change 
b) Unplanned change. 
c)  

2) Identify the process involved in the changes in Kerala. 
3) Point out any two factors / measures that contributed to the changes in 

kerala Society. 
 
tIcf kaqlw Ignª 50 hÀj¡me¯n\Iw ImXemb amä¯n\p hnt[bambn«p−v. 
 
1) GXpXcw kmaqlyamäamWnXv ? 
 

a) Bkq{XnXw 
b) Bkq{XnXaÃm¯Xv. 
 

2) GXp {]{InbbneqsSbmWv tIcf¯nÂ kmaqlyamäw D−mbXv ? 

Cooperation 

Nature & 
size of group 

Forms of 
relationship 

Primary Secondary Direct Indirect 

Cooperation 

Voluntary Involuntary  



3) tIcf¯nse kmaqly amä§sf klmbn¨ GsX¦nepw c−v \S]nIÄ / 
LSI§Ä FgpXpI. 

         Score : 4 
         Time : 5  
Scoring indicator :  
 
1.  Planned  - 1 
2.  Development  - 1 
3. Social Reform movements, Land reforms, Education etc (any 4 to) - 2 
  

UNIT : 8 
SOCIAL CHANGE  

Q. 34  
CO. 2 
 
Identify the factors influencing social change. 
 
Some facts regarding India’s population is given.  Analyse them on the basis of 
the factors of social change. 
 
� India is the second largested populated country. 
� Sex Ratio is 933. 
� There is wide difference between states in the matter of population density. 
� Urbanisation Increases. 
 
C´y³ P\kwJysb kw_Ôn¨ Nne hkvXpXIÄ \ÂInbncn¡p¶p.  Chsb 
kmaqlnI amä¯nsâ LSI§fpsS ASnØm\¯nÂ hniIe\w sN¿pI. 
 

         Score : 6 
         Time:12 Minutes  
Scoring indicator :  
 
1.   Identifies the Biological factor  - 1 
 Establishes cause effect Relation  - 2 
 Evaluate the situation   - 3 
 
 

UNIT : 8 
SOCIAL CHANGE  

   
Q. 35  

CO. 4 
 
Differentiate between evolution, revolution and development. 
 
Some concepts have been given below.  Arrange them properly as evolutionary.  
Write the names of any one Evolutionary thinker & Revolutionary  thinker. 
 



Revolution Evolution 
 
 
 
 
 
 

 

 
(a) Simple to complex. 
(b) Homogeneity to heterogeneity. 
(c) Class struggle. 
(d) Rapid 
(e) Slow 
(f) Contradiction. 
(g) Law of three stages. 
(h) Conflict. 
 

hn¹hIcw ]cnWmamßIw 
 
 
 
 

 

 
(a) emfnXy¯nÂ \n¶v k¦oÀ®Xbnte¡v. 
(b) kam\XbnÂ \n¶v sshhn[y¯nte¡v. 
(c) hÀ¤kacw. 
(d) XzcnXKXnbnepÅXv. 
(e) kmh[m\apÅXv. 
(f) sshcp²yw. 
(g) em Hm^v {Xn tÌPkv. 
(h) kwLÀjw. 
 
Xmsg sImSp¯ncn¡p¶ hkvXpXIsf ]cnWma]csa¶pw hn¹hIcsa¶pw thÀXncn¨v 
FgpXpI.  ]cnWmas¯¡pdn¨pw hn¹hs¯¡pdn¨pw kn²m´§Ä BhnjvIcn¨ Hmtcm 
kmaqly imkv{XÚcpsS t]cp ]dbpI. 
 

         Score : 5 
         Time  : 6  
Scoring indicator :  
 
Revolution  - c,  d,  f,  h 
Evolution  - 1,  b,  e,  g 
Name of thinkers - 1 
 
 
 
 
 
 
 

4
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XI 
UNIT : 09 

SOCIAL CHANGE  
Q. 36  

CO. 01 
 
To familiarise the theoretical perspectives of the pioneers of sociology. 
 
Question Text  :   
 
1. Fill in the blank properly 
    Theoretical contributions - contributors 
a. Law of three stages  - _________ 
b. Law of evolution  - _________ 
c. Theory of suicide  - _________ 
d. Theory of Bureaueray  - _________ 
 
hn«`mKw ]qcn¸n¡pI 

ssk²m´nI kw`mh\IÄ  ssk²m´nI³  

a. aq¶v L«§sf¡pdn¨pÅ \nbaw  _________ 
b. ]cnWma kn²m´w    _________ 
c. BßlXyIsf¡pdn¨pÅ kn²m´w  _________ 
d. DtZymKØ {]`pXzs¯¡pdn¨pÅ kn²m´w _________ 
         Total score : 4 
         Time:2 Minutes  
Scoring indicator :  
 
a -  Comte   - (1) 
b - Spencer  - (1) 
c - Emile Durkkeim - (1) 
d - Max Weber  - (1) 
  
CO. 03 
 
To understand the hierarchy of sciences proposed by comte  
 

Q. 37  
 
Question Text  :   
 
 
 
 
 
 
 
 
 

Chemistry 



 
 
 
(a) Fill the blank boxes of the above diagram with the help of the hierarchy of 

sciences. 
(b) Who propounded this theory ? 
         Score : 03 
         Time: 3 Minutes  
Scoring Key and Key Notes :  
 
 Astronomy - ( ½ ) 
 Physics - ( ½ ) 
 Biology - ( ½ ) 
 Sociology - ( ½ ) 
Comte’s theory of hierarchy of sciences - (1) 
 
 
 

Q. 38  
CO. 13 
 
Recognise and realise the contributions of Karl Marx to the sociological literature. 
 
Question Text  :   
 
“Socialism is classless society free from exploitation from all sources” – Karl 
Marx.   
Analysing the socio-economic situations of do you think that such a socialist 
society as envisaged by Karl Marx is possible is possible in India ?  Substantiate 
your view. 
 

“FÃmhn[ NqjW§fnÂ \n¶pw apàamb Hcp hÀ¤clnX kaqlamWv tkmjyenkw” 
þ ImdÂ amÀIvkv. 
C¶s¯ kmaqlnI km¼¯nI kmlNcy§Ä hniIe\w sN¿pt¼mÄ ImdÂ amÀIvkv 
hn`mh\sNbvXXpt]mepÅ Hcp tkmjyenÌv kaqlw C´ybnÂ km[yamsW¶v 
\n§Ä¡v tXm¶p¶pt−m ?  D¯cw km[qIcn¡pI.     

      Total Score : 8 
         Time:15 Minutes  
Scoring Key and Key Notes :  
 
a) Recollects Marx’s view on socialist society     - 2 
b) Analysis of the socio-economic conditions of India    - 2 
c) Judges the possibilities of a socialist society     - 4 
 
    
 

 
Q. 40  

CO. 8 
 
Recognise the organic analogy developed by spencer. 



 
Question Text  :   
 
In a sociological conference on the theoretical contributions of spencer, a 
participant criticised the ‘organic analogy’ of propounded by spencer.  He said 
that it is unscientific and irrelevant to compare a society to a living organism.  
What is your opinion ?  Justify. 
 
kvs]³kdnsâ ssk²m´nI kw`mh\Isf¡pdn¨pÅ Hcp tkmtjymfPn¡Â 
tIm¬^d³knse {]Xn\n[n kvs]³kdnsâ HmÀKm\nIv A\temKnsb 
hnaÀin¡pIbp−mbn.  Hcp kaqls¯ Hcp PohntbmSv XmcXays¸Sp¯p¶Xv 
Aimkv{Xobhpw A{]kàhpamsW¶v At±lw A`n{]mbs¸«p.  CXnt\mSv \n§fpsS 
A`n{]mbw F´mWv ?  D¯cw km[qIcn¡pI. 

          

                  Total Score : 8 
         Time:15 Minutes  
Scoring Indicator :  
 
Recognises the concept of organic analogy     : 3 
Critically evaluates the contribution of spencer and derives of  
own view with proper justification       : 5 
 
    

 
Q. 41  

CO. 9 
 
Understand the concept of division of labour and social solidarity proposed by 
Durkheim. 
 
 
 
 
Question Text  :   
 

‘Primitive societies are simple 
Modern societies are complex’. 
 

Prepare a seminar proper regarding the statement is the light of the concepts of 
division of labour and social solidarity proposed by Emile Durkheim. 
 

{]mIrX kaqlw efnXhpw B[p\nI kaqlw k¦oÀ®hpamWv. 
Fanen UÀJow BhnjvIcn¨ sXmgnÂ hn`P\w, kmaqlnI sI«pd¸v F¶o 
Bib§fpsS shfn¨¯nÂ taÂ]dª {]kvXmh\Isf Bkv]Zam¡n Hcp skan\mÀ 
t]¸À X¿mdm¡pI.          

                     Total Score : 7 
         Time:12 Minutes  
Scoring Indicator :  
 
Recongises the concept of division of labour     : 1 
Recognises the concept of social solidarity     : 2 
Makes connection and applies the concepts in the given situation  : 4 



  
 
    

Q. 42  
CO. 10 
 
Identify the various types of suicides suggested by Durkheim. 
 
Question Text  :   
 
The suicide rate of Kerala is higher than the national average.  Daily people from 
different spheres of life commit suicide for different reasons.  Analyse and classify 
these suicides in Kerala on the basis of Durkheim’s ‘theory of suicide’.  Proper 
examples must be pointed out for each type of suicide. 
 
tIcf¯nse BßlXy \nc¡v tZiob icmicntb¡mÄ DbÀ¶XmWv.  hnhn[ 
XpdIfnepÅ hyànIÄ hnhn[ ImcW§fmÂ A\pZn\w BßlXy sN¿p¶p.  

tIcf¯nse Cu BßlXyIsf UÀJoansâ ‘BßlXym kn²m´’¯nsâ 
]Ým¯e¯nÂ hÀ¤oIcn¨v hniIe\w sN¿pI.  Hmtcm Xc¯nepapÅ 
BßlXyIÄ¡v A\ptbmPyamb DZmlcW§Ä FgptX−XmWv.    
                        

         Total Score : 8 
         Time:15 Minutes  
Scoring Indicators :  
 
Recollects the theory of suicide       - 2 
Analysis and classifications of suicides in Kerala    - 4 
Proper examples         - 2 
  
   
  

Q. 43  
CO. 11 
 
Understand the concept of Weber’s sociology of religion. 
 
Question Text  :   
 
‘The religious conceptions have influenced the economic behaviour of various 
societies’.  Analyse the statement using Weber’s ‘sociology of religion’. 
 
aX¯nsâ ImgvN¸mSv hyXykvX kaql§fpsS km¼¯nI kz`mhs¯ 
kzm[o\n¨n«p−v.  shºdnsâ aX¯nsâ kaqlimkv{X¯nsâ ]Ým¯e¯nÂ Cu 
{]kvXmh\sb hniIe\w sN¿pI.        

                    Total Score : 5 
         Time:10 Minutes  
Scoring Indicator :  
 
Recollects ‘sociology of religion’       - 2 
Sites examples to prove the religious influence on economy   - 3 
  



  

Q. 44  
CO. 5 
 
Understand comte’s interpretation of religion of humanity.  
 
Question Text  :   
 
As a sociology student you are assigned for a speech regarding the cotemporary 
relevance of ‘religion of humanity’ propounded by conte.  Prepare a draft. 
 
Hcp tkmtjymfPn hnZymÀ°n F¶ \nebnÂ Xm¦sf tImwäv hn`mh\ sNbvX 

‘dneoPnb³ Hm^v lypam\nän’bpsS kaImenI {]kànsb Bkv]Zam¡n Hcp 
{]kwK¯n\v NpaXes¸Sp¯nbncn¡p¶p.  {]kwK¯nsâ Hcp IcSv cq]w X¿mdm¡pI. 
                         

     Total Score : 5 
         Time: 7 Minutes  
Scoring Indicators :  
 
Recollects ‘religion of humanity’       - 2 
Judges / apprises the contemporary relevance     - 3 
  
 
  

Q. 46  
CO. 9 
 
Understand the concept of division of labour and social solidarity proposed by 
Durkheim. 
 
Question Text  :   
 
 
 
 
 
 
 
 
The boxes represent the peculiarities seen in two communities.  Identify the types 
of social solidarity existing in these communities. 
 
 
 
 
 
 
 
 
 

Village  
• Primary relation 
• Collectivity 
• Emotional bond 
• Same values 

City  
• Differentiation 
• Division of labour 
• Complexity 
 

{Kmaw 
• {]mYanI _Ô§Ä 
• Iq«mbva 
• sshImcnI ASp¸w 
• kam\ aqey§Ä 

\Kcw 
• sshhn²y hÂ¡cWw 
• sXmgnÂ hn`P\w 
• k¦oÀ®X 



c−v kapZmb§fnse khntijXIfmWv t_mIvkn\pÅnÂ \ÂInbncn¡p¶Xv.  Cu 
kapZmb§fnÂ {]ISamIp¶ kmaqlnI sI«pd¸v GXv Xc¯nepÅXmsW¶v 
Xncn¨dnbpI.  
            

                    Total Score : 2 
         Time: 2 Minutes  
Scoring Indicator :  
 
Identifies 
i)   Village - Organic solidarity  - 1 
ii)  City - Mechanical solidarity - 1 
  
 

UNIT : 10 
(As per source Book)  

Q. 47  
CO. 5 
 
Identify and recognize the role of agencies in socilaisation. 
 
Question Text  :   
 
a) Complete the diagram by providing the missing agencies of socialisation. 
 
 
 
 
 
 
 
 

   
 



b) Evaluate the role of these agencies in socialising you. 
 

 

a) hn«pt]mb kmaqlnIhÂ¡cW GP³knIfpsS klmbt¯msS Ub{Kmw 
]qÀ¯oIcn¡pI. 

b) \n§sf kmaqlnIhÂ¡cn¡p¶XnÂ Cu GP³knIsf ]¦v hniIe\w sN¿pI. 
 
                     Score : 7 
         Time:12 Minutes  
Scoring Indicators with key points :  
 
i)   Recollects and fill the columns appropriately    Score : 2 
ii)  Recognises the functions of these agencies and evaluates their role 
          Score : 5 
  
  

Q. 48  
CO. 2,  3 
 
Realise man as a social being understand the importance of heredity and 
environment is the development of personality. 
 
Question Text  :   
 
Listen to the conversation. 
 
Mini  : I don’t appreciate other’s interference is my affairs.  Because I need no 

ones help.  I myself can look after my affairs. 
 
Asha : No Mini, you can’ not say so.  You have to depend on others for 

everything.  You have no existence apart from the society. 
 
a) Whose stand do you hold ?  Why. 
b) Analyse the role of your society in moulding your personality. 
 
kw`mjWw {i²n¡pI 
 
an\n  : aäpÅhÀ Fsâ Imcy¯nÂ CSs]Sp¶Xv F\n¡v CjvSaÃ.  ImcWw F\n¡v 

BcpsSbpw klmbw BhiyanÃ.  Fsâ Imcy§Ä t\m¡m³ F\n¡dnbmw. 
 
Bi : \n\¡v A§s\ ]dbm³ IgnbnÃ an\n. 

FÃm Imcy§Ä¡pw \n\¡v aäpÅhsc B{ibnt¡−Xp−v.  kaql¯nÂ \n¶v 
thdn«v \n\s¡mcp \ne \nÂ¸nÃ.  
 

a) CXnÂ BcpsS A`n{]mbt¯mSmWv \n§Ä tbmPn¡p¶Xv ?  F´psIm−v. 
b) \n§fpsS hyànXz cq]oIcW¯nÂ \n§fpsS kaql¯nsâ ]¦v hniIe\w 

sN¿pI. 
           

                    Score : 7 
         Time:15 Minutes  
Scoring Indicators with key points :  
 



i) Recognises man as a social animal and takes a stand with proper justification.
         Score : 3 

ii) Recognises and appreciates the role of society is moulding personality 
Score : 4 

  

 
Q. 49  

CO. 1 
 
Understand the term personality. 
 
Allport says, personality of an individual determines his unique adjust to the 
environment.  Prove this argument with the help of an example. 
 
Hcp hyànbpsS Npäp]mSpambpÅ AbmfpsS X\Xmb s]mcp¯s¸SemWv F¶v 
BÄt]m«v A`n{]mbs¸Sp¶p.  Cu hmZKXnsb Hcp DZmlcW¯nsâ klmbt¯msS 
sXfnbn¡pI.           

                     Score : 4 
         Time: 5 Minutes  
 
Scoring Indicators with socre :  
 
i)   Recalls personality  - 1 
 
ii)  Applies reasoning and identifies a  
     concrete example from his day to day  
     life to prove the argument      Score : 3 
  
  
 
 
  

Q. 50  
CO. 1 
 
Understand the term personality 
 
Question Text  :   
 
Here is an argument between two students. 
 
Binu : Mohanlal’s personality is the best.  Hence every one should  

imitate him. 
Manu : No. Manmohan Singh has the best personality.  Hence we must  

imitate him. 
 
Being a sociology student, mediate and solve this problem. 
 
c−v hnZymÀ°nIfpsS hmZKXnIfmWv \ÂInbncn¡p¶Xv. 
 
_n\p : taml³emensâ hyànXzamWv Gähpw \ÃXv.  AXn\mÂ FÃmhcpw  



At±ls¯ A\pIcn¡Ww. 
 
a\p : AÃ, a³taml³ knwKnsâXmWv Gähpw \Ã hyànXzw. 
 
Hcp tkmtjymfPn hnZymÀ°n F¶ \nebnÂ am[yØw hln¨v ChcpsS {]iv\w 
]cnlcn¡pI. 

                     Score : 3 
         Time: 3 Minutes  
Scoring Indicator :  
 
Applies reasoning and derives at the conclusion that  
Personality is unique and hence no need of imitating others  Score : 3 
 
 


